CASBEELBIZH+HERIEHDRERERITBE

CASBEE-IL & 20144 AR

UR#) 5 BT R $kFalT AT )L
HKTROZERICREREHETOMBEEIAVIL TS,
B2 & I B EGTEIEEEEN “IE
W1, NhECREREX R IDHE
1.1 BYoEEmHH
(@Avh) XEEFEEHRICREHLTZSD 3.0 0.59
BPI: 0872 ENRE 2| RBRIE 2.1 (=R HIE 2|5 R ERE
4.2 041 |wri|zZhix— &Y D& =
INR 35 0.07
1.2 BAIRILF—OFHA
(arvh) XEEFEFERICREHEL TSN 30 100 |wi|zrox— 2| & sk an+ —FIH
INETH| 3.0 0.06
1.3 FRIEVATLODEZIEL
@rvp) XEEBEFZEZICEH LTSN, O 49 100 |wi|zxixe— 3lsmiEs 25 Lo EIM=EL
BEI: JE{F=E 072 {FE(EFEHEEH) -—
INEH| 4.9 0.28
14 BEATLDOEMER
(TAVR)  XEEFEEGRCERHL TSN 3.0 050 |[wri|THRLE— 4|hEER IRIE =L ID%)
3.0 0.50 [wrRi|THILF— A|ZhEMIER 4.2|:EFRE BRI
INR 3.0 0.11
1.5 &ER-IT)TILRE
(@Avh) XEEBEREBRISEHL TSN O 4.0 010 |[wm|&E-<7u7L | 1|kERES 11|87k
B KRG KERERUVEKREREZRALTLS, 3.0 011 [w|zm-~7u70 | 1|kaRESE 12\FIKFIA-HHOKERA | 1|FKRIASRTLBADHE
3.0 0.05 |[wr|&E-=FU7IL | 1|KEFERE 1.2|FKF A - BB A 2| KBRS AT LEADEE
3.0 0.08 |wre|&E-=TUTIL | 2kEsMEEoEREEE |2.1|HEHEREOHE
3.0 0.15 |Re|&E-=FUTIL | 2|kBEHEROERBEE |2.2|BE77 2SR IAZ DR
3.0 0.15 |Re|&E-<FUTIL | 2|*BEHEROERBEIE |2.3BHBIZETEUSAILHOER
3.0 0.15 |re|&E-<TUTIL | 2kmsuamommEsm |2.4|swmemicst s o Logn
2.0 0.08 |[wm|&R-IFUTIL | 2|kBEsMaROERBEE |25 FETreammsEshAH
3.0 0.15 |Re|&E-=FUTIL | 2|#BEEEROERBLE |2.6|840BHMTELR EAORMH
INET| 3.0 0.34
1.6 SA47H4)LCO24EH =
(@Avh) XEBFEEHRICEHLTZEND 3.9 1.00 |wro|zsmsrmmis 1| BB~ DEE
AJRELGRY CO2M B ZHIB T 5.
NG 3.9 0.14
1.1 BR R BR 1 6t 5% 1 D HEHE 0D 51 3.7 0.68
W2 [E—r7ASURERIDHEE
2.1 REMRIEDMLE
@Avh) XEEFEEMRICEHEL LI, 20 0.49 |o3|=sEes (Euhm) [ 1|EMBBEORS LA
3.0 0.24 |Q3|=SRE (BuhN) | 3ttt 7 AT ~OBERE|3.2|Bih B RIRE DR £
2.0 0.27 |wro|Butstinss 2|t IR A~ DEE 22| BRBEELORE
ING 2.2 0.97
2.2 BB EHIE]
QAL KERFREMRIEHL TS, 40 1.00 |iro|suststigis olspmmE~0RE  |23|EoTS~0aFNH | 3|xEaR
B HHEDEEIR—IEERLTIVD,
INET| 4.0 0.03
2.TE=FP A7V 58 1 D HE L D FE A 2.3 0.18
W3. [RFMILXRIDHEHE
3.1 MtAMEDRELE
@rAvh)  XEEBEEMRICLRBL TS, 30 0.18 |az2[v—E=xitae 2| At - S 8EM 21| & RE 1|t
ZEH-IEEEKEDIL2FEE L EEZCLLEELTLY | 30 027 |oz[+—e=mae 2|t Pt - S HE 21| B R 2| BRI
Do 3.0 0.11 |ez|y—ERMEE 2|t AT - 1S 4B 2.2| 3R & - EBHF OOt FR4E 3% 1| SRR+ R Ot A4 31
2.0 0.11 Q2| —E R EAE 2|t -5 2.2 R & - BR A DT A 2|5V B AL E T DI B RFR
3.0 0.05 |Q2|¥—ERMEE 2|t FtE - 15 8EM 2.2| &R &, - BDAF DTt FA4E %1 3|xErsl L FHOESHBENR
3.0 0.05 |a2|v—E=itae 2|t FATE - S 5E 1 2.2( &R & - &R 4 DTt FAEE 31 4| Z=FBES L OEH L BRI
40 0.11 |q2|y—ExitAEE 2| R - 1S 4E 22|53 5 ED4 DT A EE %K 5| 2250 M KREOEH L EMR
3.0 0.11 [Q2|¥—ERMEE 2| - 1S REM 22|85 - 4 O FAEH 6| T ERBHBOEFLERE
INET[ 3.0 0.36
32 EimDEHM
(QAVR) KEFOFELHRICERL-FRERHL TS, | 30 020 [|az2|y—tE=zitse 3|t - EiE 33| EHH 1| ZRREOEHE
3.0 0.20 |Q2|—ExitAEE 3|5 - EHTE 33|FZImDEHME 2|14 EHEKE DEHME
3.0 0.10 [|Q2|—ExM8EE 3| - BT 33|JIBDOEHE | EREMRDERIE
3.0 0.10 |Q2|y—ERTMHAEE 3| xS - BT 33| EIEDERHM A BIEEIRO B
1.0 0.20 |Q2|—ExtAE 3|3 BT 33| EEDEHME 5|ER R DERE
3.0 0.20 |Q2|¥—ERi*EE 3| - BT 33|FZImDEHME 6|/ NI T VT AR—ZADHER
INET| 2.6 0.64
IIRFMIEXMRIOHLDFEH S (LEE2IEH) | 2.7 0.13
BERIEEOHKRTY(LFEIER) 3.3




